
aFreq=61 <-REl-6q.1' q-f,sr{

<1(El1q1 eTIffi K"I.qtsft sfrfi
Effi s<q (8dE-Et), ) T|<€<F <Iq|{, pffi-)q)a 

I

T(-ffi-)Vqsl6l-{ s frsTtF(xt-)/ocrc iotfr.+ a
)) +1-{{ )8te Ts]_q

q.s r+$ffi a.o)c ES|E

<tqqlcq.t e.Ttffi 6'5etsfr $.fr-.H qlt{, {ooe q< Tffl a.\("1-) € e8 q {qB $TEK6{. Gsfq 'fr|{
EfqRfi qs &frRtsrrq csl=olTfr frfr&v-, <fafff<fn 'ffi ftrufits"H c$.l,.Dn-fr frfr&s, srf6Tf{f<lq.

a51q ffqfrfi qrrs GffifrtsrrE FrrsT BRdu, {ft{rsq sg1-q 6q1e1fr frfr&v', +'ffi 
"m.ry

eEfitsfi c+.i-,.Dilfr frfrcls q<( {q(fl eylq 61sy,4fr frfrd-s o{o retot qdl-cT q<<-dqTs

'RtcT{ {E-rqt{ fizXt'osn< gsfr{f<+ $-fl qc-{is

@fr-€
Ts.

.{E$-Grft
Tql-qlr @rmnqu,

) {tD- \o)1g,tl=i"l
q60T,ffq1

) q{ qo)1Etllil{
q6opffq-s

) fiwq a..bb e.)g
a. TrT'fiBs 'lrsxl<l b.bb- b.gQ

fi{ a..s8 4.. c)
8 frfl 1.4.8 q.qg

c' DT il5tr{ g.be c.8a.

<tFr&rs )8.1o ) 1.o8
I fqqrG 9b.oo 8o.oo
v "ffii e

n) 1aDBls1ree b.)o ) ).Q.o

"l) 
,{s <rqK (effiT t{FtE) lGo.oo boo.oo

't) E{ <r+r< (qlsrfcq I{FiE) Voo.oo bGo.oo

a. r q6 i-afitsr< fie{& $rcffi qeN {|of q<( frfr{ fl't .{< 1+afr,frRv {E-j'q]L<-{ {r<r ftw "Btm<
{I-JRT{ {ct]@(T eo.oo Di-s.i- q<( e\.oo Bl-+l e<( Bsr {lc{ q"ll6<B{ {Iffi{ u.oo Br$T q-s-qs

TC{rq I

e I rt11-{ wi"1.3frq Rkrq]q q{fl-{r.NnKfr q'fffi qttE-c< 
r

'foffuE

ffi/a^rY
{ , rllBwsrq{Fr
-J qG<

6Pfi3 553 65q6


